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(3 Hours) [Total Marks: 8).0
B.: 1) Question No.1 is compulsory. 9. 3 e

2) Attempt any three from the remaining five questions. :

1 ~ Write a short note on following (any Four)
() Datalndependence SE RS B G
(b) Generalization and specialization s R AT : o 5)
(¢) Differentiate Extensible and linear hashmg A VSl e w0 (5)
(d) Role of DBA L G e S EardE s S (5)
(e) Objects, Oids and reference types - g : Ry (5)
(f) Differentiate OODBMS and ORDBMS St o o o, R P (5)

2. (a) Desngn an Entity Rclauonshlp (ER) model for a college database w1th Y. (10)

following requirements

(i) A college contains many departments _
(ii) Each department can offer any number of courses
(iii)Many instructors-can work in a department
(iv)An instructor can work only in one department ]
(v) For each department thereisa Head = S i
(vi)An instructor can be head of only one department '

(vii) Each instructor can. take any number of courses .

(viii) A course can be taken by only one mstructor 5 .
(ix)A student can enroll for any number of courses |7
(x) Each course can haVe any number of students §

¥

"4.

._\-

Draw an ER dlagram for the case and aiso write the schema definition.

|
! |
(b) Explam Archxteclure of DBMS wﬁh the help of diagram (10) F !
3. (a) Explam INF ZNF 3NF Wlth the help of example Normalize the below table (10)
till 3NE. } ,
(DJ
EMP PRO)
Ssn T Enames ' | - Pnumber ‘| Hours . . - R
123456789 | Smith, John B. 1 32.6
2 7.5
| 666884444 | Nayan Ramesh K| 3 |00
4534563453 English, Joyce A. 1 20.0
LS S S 2 200 ——
23344550805 Wong, Franltliﬂ 'T 2 10.0
3 10.0
10 10.0
___________ S, W T R T L
©90887777 Zolaya, Alicia J. 30 aco
rs dup  sid W AT A NE T ) Jo | oo
(b) Wbat are the various data distribution techmques in Distributed database (10)
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4. (a)
(b)
5 (a)
(b)
6 (a)
(b)
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Find the candidate key and closure for given set of functional dependencxes

~Consider the relation R(A,B,C,D,E) with dependencies:

R = ABCDE, F = {A -> BE, C -> BE, B -> D}

Explain B+ tree with the help of an example.
&

How ISAM is different from B+ tree

How conflict serializability is different from v1ew senahzabllty? Explam w:th
the help of an example? . .

Explain difference between query and transacnon? Explam vanous tranﬁacuon
states with the help of diagram? :
Explain parallel data base architecture wnh the help of a dlagram‘
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(3 Hours) 2
(1) Question No. 1 is compulsory. S ;_',,;.-”__‘
(2) Attempt any. three from remaining five questions. = = %7 o ‘
Attempt Any Four { % ST 0
a) Explain difference between Swing and AWT T R S S
b) What is Bytecode? Explain how java achleves platform mdependence us“rng &
ByteCodes. TN AR ;{,\?
c) Explain difference between Abstract classes arid Inter,faces A (g SR
d) Write a note on Dependency"!n}ectlén in Sprmg Framework
e) ISP implicit objects . Pl s N )
T W O ik ; P bt
1a) Whatis Session Tracking in Servlets? Explam use of Coekres and HttpSeg\suon API 10

{8) What are Lambda Expressrqns?“ Exp!am svntax and use of Lambda expressrons with a 10
suitable program. . " ,_

{a) Whatare Darectwes m iSP? Explam Page, TaginQand mclude dlrectwe wnth a simple 10
coding snippet. \ P Ay

{8) Whatis Exceptlon Hand!mg? Expiam use of try,catch{ throw and throws keyword with a 10
suitable program usmgjava b O e

‘ {a) Whatare Byte St(eamsand Character Streéms? erte a slmpie program to read and 10
4 write: data, to:a file uSIhg character streams
{b) Whatis JQBC? Explam stePs to Connect java program to Oracle database using type 4 10
drivers _* 7 ‘ L RS o . &
(a) ‘VWhat is !nter'}’hread Communlcatlan?»‘Explain how you will use it to solve Producer 10
X consu mer‘ problem USmg a 5u1table program
~_4b) Explaln ln‘b!'l&f\, NS T e 10
) GenerIcServlet and HttpServlet '
o i-‘_ : b) Custem Tags and JSTL o
{a) Add a note B o " i 10 '
k- Sy Wr,apper Classes < l
S 3h) Generrc Classes usmg Java
; (b) What is Event Delegation ‘model? Explain any two event listeners in detail. 10

a8 ok 2k i a3k ok ok K %k ok K
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Ser- 11T - cholce bos.eeb ,
[3 hours ] [Marks: 80]

a) Question No. 1 is compulsory

b) Attempt any three from the remaining six questions

c) Assumptions should be made whenever required and should be clearly stated
d) Answers to sub questions should be answered together

e) Illustrate answers with diagrams wherever necessary - ;

f) Use of Calculators is permitted : g ‘ £ 4 n

QI A What is information security? Discuss the various principies of network security 10 :
B Discuss one round structure of the DES ; s ' _ 10
Q2 A  Explain the methods of 1mplernentmg secur;ty on databases ' . 10

B What are the pros and cons of symmetnc and asymmetnc key encryption?. Explam a 10
method that adapts the advantages of both the l:echmques

Q3 A  Define message digest . Explain SHA for getting the message digest and compare it 10
with MDS5 ‘

B What are web services? Explam and dlscuss the hlerarchy of providing security to the 10
web services - :

Explain Kerberos as a third party authenhcanon semce 10

Q4 A
B What are the objectives of SET? Explam how are the ob]ectlves achieved 10
Q5 A Explain fche WEP and WEI_’_ 2 used m“ﬂie IEEE 802.1 11 standard . 10
B Explain fhe_ various ifnpieﬁieﬂmﬁons :of ‘E-iife‘\ialls 10
Q6 A  Write short notes on any four of the following 20
a) KDC g
b) Modes of Encryption
¢) .-TLS |
d) DDoS

e) Reflection attack -

ok o e o ok o ok ok ok Ok ok
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[Time: 3:00 Hours]

N.B: 1. Question No.1 is compulsory.

2. Attempt any 3 questions from question 2 to 6.
3. Figure to the right indicates marks.

4. Use of scientific calculator is allowed.

5. mixing of sub-questions not allowed

0Q.1) a) Five jobs are to be processed at three machmesA,B‘ and Cq‘n the%raer ABC 'I‘he ume takeﬁ\by each _]Ob on

the three machines is given below. Each machine nmim?c:ss bqe jobaat. anma Detm'mme the optimumsequence
for thé jobs and total elapse time. Also find the ldlq.tuna or\each maclune\ DT St [10]

b) A house wife makes ;sauoe and chumzy whxch she sells tuthe ;mal sfore each week. She obtains a profit of Rs 4
and Rs 5 for a kg of chutney. End\haﬁce’fespe\envcly ‘Oné kg of chutney requires 3 Kg of tomatoes and 4 cups of
vinegar and one. k&o\f sauce gpquﬂ'es Skgof temﬁtoﬁand 2 mwof vinegar. She can buy 24 kg tomatoes and 3
bottles of vinegar at discounted price each week. The 3 pbttles provide 16 cups of vinegar. In order to make it
worthwhile the store insists on- blfymg at ledst kg of gﬁeds\each week. What combination should be made in order
to maxlmize proﬁt FomaMathematJ,calmodﬁl anduse grhphlcal method to get solution [10]

{10
SMaciqe z=t2xt+m +X3 °
Squectm\ SRS
S 10X+ 2X2+ X3 €=100
X1+ 3X2+ 2X3 <= 77
3 © 2X1+4X2+ X3 <*8
_:' FaR XI.XZ\,‘XB»M
. % o e, Q.
.%}Fmdanimual basng fghmble Qolutmn to the followmg transportation problem by VAM Method [10]
3 Distribution centre Supply
3 11 7 6
0 6 1 1
8 15 9 10
5 3 2
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Q. 3) a) Solve the following assignment problem and find the optimum a351gnmcnt that will tgsylt in the
minimum man hours needed.

A

P 10

Q 7

'Workers R 13
S
T

Q.4) a) The data collected i in. rurihmg‘:a machin
Year &7 i VS
Resale Value :

Optlnuéﬁcfto} et
",Mostﬁke_jxm *’;. S

) Find the expeéted ” o
1y) Calculate te the vanﬂnee\and‘standa.r devnatlon of project length. If the project due date is 18 weeks, what is the
*_ probability:of not mesting. thezdue date [P(z=0.33)= 0.623] [10]
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A salesman has to visit five cities A, B., C, D, E. The distance between 5 c:ﬁes a,reﬁas helaw\- Ifth&salgsman ki

s from city A and has to come back to city A which route will he select sq!hai ﬂ)é;to(alnmctb\wsﬁaﬂ mhm\
minimum? 3 % RIS :

E A&

o~ :\., ',-_

the following problem um,ng BuaTSlmi"Sl

o

ebnioﬂ:

[10]
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N.B.:

(b)
(c)
(d)

(b)

(b)

(b)

5 (a)
(b)

- e
Semn- L Cheice ‘{p. code: 25401

Total Marks: 80
(3 Hours)

1) Question No.1 is compulsory.
2) Attempt any three from the remaining five questions.
3) Answer to sub-questions should be grouped together.
ISO 9126 Quality characteristics?
What is testing? How is debugging different from testing?
Explain the Five Views of Software Quality.
Explain the V Model.

Explain statement coverage and path coverage with the example?

What is mean by review? Explain different work steps involved in review
process?

What is Incident Management? Explain Incident reporting and Incident Status
Model in detail?
Explain the General Principles of testing?

What are the different test tool seiection criteria? Give steps required to selzsct
a tool?

Explain cause effect graphing and decision table technique with suitable
example?

Draw and Explain the Architecture for test Automation?

Explain the test objectives, test environment and test strategies for unit testing

6. Write short notes on (any four)

(a)
(b)
(c)
(d)
(e)

0O testing.

ISO 9000:2000 Principles (any 5 principles)
Regression testing

Data flow anomaly

Use case testing.

9D52FOF6ABFDAEC3592C9269128EC693

(05)
(05)
(05)
(05)

(10)

(10)

(10)
(10)

{19)

(10)

(10
(10)

(20)




